#18B51-HAND TOOLS

item

MM #

DESCRIPTION

Y

112654

ARBOR,HOLESAW,UP TO 1-13/16",1/2"HX SHFT

112655

ARBOR,HOLESAW,1-1/4 TO 6", 7/16 HX SHAFT

112656

DRILL,PILOT,FOR ARBORS, 1/4 X 4 IN.

112660

ARBOR,MARVEL SS HOLESAW,7/16"HEX SHAFT

112661

ARBOR,MARVEL SS HOLESAW,7/16",SNAPACTION

112682

BIT, MACHINE,MULTISPUR,9/16"

112683

BIT,MACHINE,MULTISPUR,5/8"

112684

BIT,MACHINE,MULTISPUR,11/16"

Wi I NiO|UNIHIWIN

112686

BIT,MACHINE,MULTISPUR,7/8"

-
o

112687

BIT,MACHINE,MULTISPUR,15/16"

=
=

112688

BIT,MACHINE,MULTISPUR,1"

=
N

112690

BIT,MACHINE,MULTISPUR,1-1/8"

e
w

112694

BIT,MACHINE,MULTISPUR,1-3/8"

RN
Ex

112697

BIT,MACHINE,MULTISPUR,1-5/8"

ey
wu

112730

BIT,ROUTER,(OG),B.B.GUIDE, 5/32 IN. RAD.

o
N

112731

BIT,ROUTER,(OG),B.B.GUIDE, 1/4 IN.RAD.

-
~

112738

BIT,ROUTER,(CR),B.B.GUIDE, 1/4 IN.RAD.

=
ee]

112734

BIT,ROUTER,(CR),B.B.GUIDE, 3/8 IN.RAD.

[N
w0

112735

BIT,ROUTER,(CR),B.B.GUIDE, 1/2 IN.RAD.

N
o

112736

BIT,ROUTER,(BD),8.B.GUIDE, 1/4 IN.RAD.

N
[N

112737

BIT,ROUTER,(BD),B.B.GUIDE, 3/8 IN.RAD.

N
N

112738

BIT,ROUTER,(HB),1/2 IN.DIA,1-1/2 IN.LNTH

N
w

112739

BIT,ROUTER,(LT),1/4 IN.PILOT, 1/4 IN.CUT

N
H

112740

BIT,ROUTER,(LT),13/64 IN.PILOT, 1/4" CUT

N
U1

112742

BIT,ROUTER,DOUBLE FLUTE,TYPE O & 22 DEG.

N
D

112749

BIT,ROTARY HAMMER,ELECTRIC,3/16"X 6"

N
~

112750

BIT,ROTARY HAMMER,ELECTRIC,1/4"X 6"

N
foe]

112751

BIT,ROTARY HAMMER,ELECTRIC,5/16"X 6"

N
o

112752

BIT,ROTARY HAMMER,ELECTRIC,3/8"X 6"

W
(e

112753

BIT,ROTARY HAMMER,ELECTRIC,3/8"X 12"

w
—

112754

BIT,ROTARY HAMMER,ELECTRIC,1/2"X 6"

w
N

112755

BIT,ROTARY HAMMER,ELECTRIC,1/2"X 18"

w
w

112756

BIT,ROTARY HAMMER,ELECTRIC,5/8"X 8"

w
4>

112757

BIT,ROTARY HAMMER,ELECTRIC,5/8"X 18"

w
v

112758

BIT,ROTARY HAMMER,ELECTRIC,3/4"X 8"

W
(o2}

112759

BIT,ROTARY HAMMER,ELECTRIC,3/4"X 18"

w
~3

112837

BRUSH, WIRE,SCRATCH,SHOE HNDL,S.S,10 IN.L

w
oo}

112838

BRUSH, WIRE,SCRATCH,SHOE HNDL,BRZ,10 IN.L

w
w

112839

BRUSH,WIRE,4 X 19 ROW,13-3/4"X5/8"

B
o

112840

BRUSH,WIRE,6 X 19 ROW,7-1/2"X2-1/4"

H
[EEY

112841

BRUSH,WIRE,4 X 16 ROW,10-1/4" X 1-1/8"

5
N

112842

BRUSH,WIRE,2 X 17 ROW, 10" X 5/8"

BN
w

112843

BRUSH,WIRE,SCRAPER,4 X 11 ROW,11"X1-5/8"

N
s

112846

BRUSH, WIRE,SS,CURVED,3X7 ROW,7-1/2"X1/2"

9/25/2018



~_#18B51-HAND TOOLS

item

MM #

DESCRIPTION

45

112850

BRUSH,WIRE WHEEL,KNOT,3.5"DIA, 5/8-11HUB

46

112851

BRUSH,WIRE WHEEL,CRMPD,3.5"DIA,5/8-11HUB

a7

112852

BRUSH,WIRE,WHEEL,KNOT,4"DIA, 5/8-11 HUB

48

112853

BRUSH,WIRE WHEEL,CRMPD,4"DIA,5/8-11 HUB

49

113042

BIT,DRILL, TAPER,F/COUNTERSINK,7/32" #12

50

113043

BIT,DRILL, TAPER,F/COUNTERSINK,9/64" #6

51

113044

BIT,DRILL, TAPER,F/COUNTERSINK,11/64",#8

52

113045

BIT,DRILL, TAPER,F/COUNTERSINK,13/64" 410

53

113046

COUNTERSINK,3/8"F/9/64"BIT,FULLER#C-6

54

113047

COUNTERSINK,3/8"F/11/64"BIT,FULLER#C-8

55

113048

COUNTERSINK,1/2"F/13/64"BIT,FULLER#C-102

56

113049

COUNTERSINK,1/2"F/7/32"BIT,FULLER#C-12

57

113052

DRILL & C/SINK,TRADE NO.2, 5/64 IN.

58

113053

DRILL & C/SINK,TRADE NO.3, 7/64 IN.

59

113054

DRILL & C/SINK, TRADE NO.5, 3/16 IN.

60

113055

DRILL & C/SINK,TRADE NO.6, 7/32 IN.

61

113058

DRILLS,MASONRY,CARBIDE TIP,AUGER PT,3/16

62

113060

DRILLS,MASONRY,CARBIDE TIP,AUGER PT,1/4"

63

113063

DRILLS,MASONRY,CARBIDE TIP,AUGER PT,5/16

64

113066

DRILLS,MASONRY,CARBIDE TIP,AUGER PT,3/8"

65

113072

DRILLS,MASONRY,CARBIDE TIP,AUGER PT,1/2"

66

113089

DRILL,HIGH SPEED, LETTER F, .2570 IN.

67

113106

DRILL,HIGH SPEED, LETTER X, .3970 IN.

68

113109

TWIST DRILL SET,BITS #1 TO 60,COMPLETE

69

113111

DRILL, TWIST,HIGH SPEED, 1/16 IN.

70

113112

DRILL, TWIST,HIGH SPEED, 5/64 IN.

71

113113

DRILL, TWIST,HIGH SPEED, 3/32 IN.

72

113115

DRILL, TWIST,HIGH SPEED, 7/64 IN.

73

113116

DRILL, TWIST,HIGH SPEED, 1/8 IN.

74

113120

DRILL, TWIST,HIGH SPEED, 5/32 IN.

75

113122

DRILL, TWIST,HIGH SPEED, 11/64 IN.

76

113124

DRILL, TWIST,HIGH SPEED, 3/16 IN.

77

113126

DRILL, TWIST,HIGH SPEED, 13/64 IN.

78

113127

DRILL, TWIST,HIGH SPEED, 7/32 IN.

79

113128

DRILL, TWIST,HIGH SPEED, 15/64 IN.

80

113129

DRILL, TWIST,HIGH SPEED, 1/4 IN.

81

113131

DRILL, TWIST,HIGH SPEED, 17/64 IN.

82

113132

DRILL, TWIST,HIGH SPEED, 9/32 IN.

83

113133

DRILL, TWIST,HIGH SPEED, 19/64 IN.

84

113134

DRILL, TWIST,HIGH SPEED, 5/16 IN.

85

113136

DRILL, TWIST,HIGH SPEED, 11/32 IN.

86

113137

DRILL, TWIST,HIGH SPEED, 23/64 IN.

87

113138

DRILL, TWIST,HIGH SPEED, 3/8 IN.

88

113139

DRILL, TWIST,HIGH SPEED, 25/64 IN.

9/25/2018



#18B51-HAND TOOLS

item

MM #

DESCRIPTION

89

113140

DRILL, TWIST,HIGH SPEED, 13/32 IN.

90

113141

DRILL, TWIST,HIGH SPEED, 27/64 IN.

91

113142

DRILL, TWIST,HIGH SPEED, 7/16 IN.

92

113144

DRILL, TWIST,HIGH SPEED, 15/32 IN.

93

113145

DRILL, TWIST,HIGH SPEED, 31/64 IN.

94

113146

DRILL, TWIST,HIGH SPEED,STD.SPIRAL, 1/2"

95

113147

DRILL, TWIST,HIGH SPEED,TAPER,17/32"

96

113148

DRILL, TWIST,HIGH SPEED,TAPER,9/16"

97

113149

DRILL, TWIST,HIGH SPEED, TAPER LENGTH,5/8"

98

113150

DRILL, TWIST,HIGH SPEED, TAPER,11/16"

99

113151

DRILL, TWIST,HIGH SPEED,TAPER,3/4"

100

113158

DRILL, TWIST,HIGH SPEED, #7

101

113159

DRILL, TWIST,HIGH SPEED, #8

102

113163

DRILL, TWIST,HIGH SPEED, #13

103

113166

DRILL, TWIST,HIGH SPEED, #16

104

113170

DRILL, TWIST,HIGH SPEED, #20

105

113171

DRILL, TWIST,HIGH SPEED, #21

106

113175

DRILL, TWIST,HIGH SPEED, #25

107

113177

DRILL, TWIST,HIGH SPEED, #27

108

113179

DRILL, TWIST,HIGH SPEED, #29

109

113181

DRILL, TWIST,HIGH SPEED, #31

110

113183

DRILL, TWIST,HIGH SPEED, #34

111

113184

DRILL, TWIST,HIGH SPEED, #35

112

113185

DRILL, TWIST,HIGH SPEED, #36

113

113194

DRILL, TWIST,HIGH SPEED, #45

114

113196

DRILL, TWIST,HIGH SPEED, #47

115

113210

DRILL,STEP,GREENLEE #34401, 1/2 IN.

116

113211

DRILL,STEP,GREENLEE #34403, 7/8 IN.

117

113391

NAIL SET, TIP SIZE:1/32 IN., 4 IN.LONG

118

113392

NAIL SET, TIP SIZE:2/32 IN., 4 IN.LONG

119

113393

NAIL SET,TIP SIZE:3/32 IN., 4 IN.LONG

120

113433

PUNCH,CENTER, 1/4 X 4 IN,

121

113434

PUNCH,CENTER, 3/8 X 5 IN.

122

113436

PUNCH,CENTER, 1/2 X 6 IN.

123

113440

PUNCH,DRIFT/TAPER, 1/4 X 12 IN.

124

113441

PUNCH,DRIFT PIN, 5/16 X 9 IN.

125

113442

PUNCH,DRIVE PIN,5PC SET,LONG,1/8 TO 3/8"

126

113443

PUNCH,DRIVE PIN,8PC SET,SHORT,1/16-5/16"

127

113444

PUNCH,DRIVE PIN,#B, 3/32 X 19/64 X 4 IN.

128

113445

PUNCH,DRIVE PIN,#C, 1/8 X 19/64 X 4 IN.

129

113446

PUNCH,DRIVE PIN,#C, 5/32 X 19/64 X 4 IN.

130

113464

SAW,HOLE, LHS-18, 9/16 IN.

131

113465

SAW,HOLE, LHS-20, 5/8 IN.

132

113466

SAW,HOLE, LHS-22, 11/16 IN.

9/25/2018



#18B51-HAND TOOLS

item

MM #

DESCRIPTION

133

113467

SAW,HOLE, LHS-24, 3/4 IN.

134

113468

SAW,HOLE, LHS-26, 13/16 IN.

135

113469

SAW,HOLE, LHS-28, 7/8 IN.

136

113470

SAW,HOLE, LHS-30, 15/16 IN.

137

113471

SAW,HOLE, LHS-32, 1 IN.

138

113472

SAW,HOLE, LHS-34, 1-1/16 IN.

139

113473

SAW,HOLE, LHS-36, 1-1/8 IN.

140

113474

SAW,HOLE, LHS-38, 1-3/16 IN.,

141

113475

SAW,HOLE, LHS-40, 1-1/4 IN.

142

113476

SAW,HOLE, LHS-42, 1-5/16 IN.

143

113477

SAW,HOLE, LHS-44, 1-3/8 IN.

144

113478

SAW,HOLE, LHS-48, 1-1/2 IN.

145

113479

SAW,HOLE, LHS-52, 1-5/8 IN.

146

113480

SAW,HOLE, LHS-56, 1-3/4 IN.

147

113481

SAW,HOLE, LHS-60, 1-7/8 IN.

148

113482

SAW,HOLE, LHS-64, 2 IN,

149

113483

SAW,HOLE, LHS-66, 2-1/16 IN.

150

113484

SAW,HOLE, LHS-68A, 2-1/8 IN.

151

113485

SAW,HOLE, LHS-72A, 2-1/4 IN.

152

113486

SAW,HOLE, LHS-76A, 2-3/8 IN.

153

113487

SAW,HOLE, LHS-80A, 2-1/2 IN.

154

113488

SAW,HOLE, LHS-88, 2-3/4 IN.

155

113489

SAW,HOLE, LHS-92, 2-7/8 IN.

156

113490

SAW,HOLE, LHS-96, 3 IN,

157

113491

SAW,HOLE, 3-1/4 IN.

158

113492

SAW,HOLE, 3-3/8 IN.

159

113493

SAW,HOLE, LHS-112, 3-1/2 IN.

160

113494

SAW,HOLE, LHS-128A, 4 IN.

161

113495

SAW,HOLE, LHS-132, 4-1/8 IN.

162

113579

TAP,BOLT,3PC SET,HS,4 FLUTE,H-3,#4-40

163

113580

TAP,BOLT,3PC SET,HS,3 FLUTE,H-3,#6-32

164

113581

TAP,BOLT,3PC SET,HS,4 FLUTE,H-3,#8-32

165

113583

TAP,BOLT,3PC SET,HS,4 FLUTE,H-3,#10-32

166

113585

TAPS,BOLT,3PC SET,HS,4 FLUTE,H-3,1/4-20

167

113586

TAPS,BOLT,3PC SET,HS,4 FLUTE,H-3,5/16-18

168

113587

TAPS,BOLT,3PC SET,HS,4 FLUTE,H-3, 3/8-16

169

113588

TAPS,BOLT,3PC SET,HS,4 FLUTE,H-3,7/16-14

170

113590

TAPS,BOLT,3PC SET,HS,4 FLUTE,H-3,1/2-13

171

113592

TAPS,BOLT,3PC SET,HS,4 FLUTE,H-3, 5/8-11

172

113593

TAPS,BOLT,3PC SET,HS,4 FLUTE,H-3, 3/4-10

173

113594

TAPS,BOLT,N.F,3PC SET,HS,4 FLUTE, #10-32

174

113604

TAPS,PIPE, TAPER,NPT,HS,4 FLUTE, 1/8-27

175

113605

TAPS,PIPE, TAPER,NPT,HS,4 FLUTE, 1/4-18

176

113606

TAPS,PIPE, TAPER,NPT,HS,4 FLUTE, 3/8-18

9/25/2018



#18B51-HAND TOOLS

Item

MM #

DESCRIPTION

177

113607

TAPS,PIPE, TAPER,NPT,HS,4 FLUTE, 1/2-14

178

113608

TAPS,PIPE, TAPER,NPT,HS,5 FLUTE, 3/4-14

179

113609

TAPS,PIPE, TAPER,NPT,HS,5 FLUTE,1" 11-1/2

180

113610

TAPS,PIPE, TAPER,NPT,HS,5 FL,1-1/4"11-1/2

181

113611

TAPS,PIPE, TAPER,NPT,HS,7 FL,1-1/2"11-1/2

182

113612

TAPS,PIPE, TAPER,NPT,HS,7 FL, 2 IN-11-1/2

183

113615

TAPS,HAND,BOLT,PLUG,N.C,H.5.STL,#8-32

184

113617

TAPS,HAND,BOLT,PLUG,N.C,H.S.STL,#10-24

185

113618

TAPS,HAND,BOLT,PLUG,N.C,H.S.STL,#10-32

186

113619

TAPS,HAND,BOLT,PLUG,N.C,H.S.STL #12-24

187

113620

TAPS,HAND,BOLT,PLUG,N.C,H.S.5TL,1/4"-20

188

113621

TAPS,HAND,BOLT,PLUG,N.C,H.S.STL,S/16"-18

189

113622

TAPS,HAND,BOLT,PLU G,N.C,H.5.STL,3/8"-16

190

113623

TAPS,HAND,BOLT,PLUG,N.C,H.5.5TL,1/2"-13

191

113624

TAPS,HAND,BOLT,PLUG,N.C,H.5.STL,5/8"-11

192

113627

TAPS,HAND,BOLT,PLUG,N.C,H.5.STL,1"-8

193

113633

PUNCH TOOL SET,9PC,1/4 TO 1",SELF-CENTER

194

113651

WHEEL,GRINDNG,24GRIT,4-1/2"X 1/4"X 5/8"

195

113652

WHEEL,GRINDING,24 GRIT,4.5"DIA,7/8 BORE

196

113653

WHEEL,FLAPDISC,3GGRIT,4.S"DIA,5/8-11ARB

197

113655

WHEEL,GRINDING,5 IN.DIA, 5/8 THRD.ARBOR

198

113658

WHEEL,GRINDING,A24,GOLD,7"DIA, 5/8 THRD.

199

113661

WHEEL,CUTOFF,A36T GRIT,3"X .035"X 3/8"

200

113662

WHEEL,CUT OFF,A36T GRIT,3 X 1/16 X 3/8"

201

113663

WHEEL,CUTOFF,A36T GRIT,3"X 1/8"X 3/8"

202

113666

WHEEL,CUT OFF, 7-1/4 X 1/8 IN.

203

113676

WHEEL,GRINDING,COARSE,6"X 3/4"X 1"

204

114430

DRILL, TWIST,SET,1/16-1/2"BY 1/64",29 PCS

205

114432

BRUSH,WIRE,F/COPPER TUBE,1/2" & 3/4"NOM.

206

115678

WHEEL,CUTOFF,24 GRIT,4-1/2"X1/8"X7/8"

207

115708

WHEEL,GRINDING,5"X 1/8"X 5/8"ARBOR

208

116362

ABRASNE,WHEEL,CUTOFF,4-1/2”X,045"X7/8"

209

118385

ABRASIVE, WHEEL,CUTOFF,6"X.045"X7/8"

9/25/2018



